BIERIPEN HRSBRME (R) EYME: AERY
2023 4E 6 A 1 A 4B, FEaIFE: 90

ey 5 A: 14E (F— 32-35), B4 RRARE AL 1 4K, SHEAIMK 11, R HIAAATL

IR SRKSHOMEORER, B4RBEARIcREI L. HEB
BEVERZEYCETRII I L.

[1] (1) B%K arcsinz DEREBRE.
(2) BA%K cos(arcsinz) D7 7 & T,

[2) BWAHBR 2y’ = 1 DRET, KM (1,00) LTERSNZHDETRTRD K.
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cosz + 2

(4] D={(z,y) eR*|1+z+4*>0} L L, D kOB f 2R TEHT 3:

8] R LM% f(z) = DB E —DRD L.

f(z,y) = (z — 1) log(1 + z + 3°).
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(5] £+ (0,00) > R % (0,00) LBATREABIKE L, lim f(z)=1 £F 3.
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Ye>0 3ce (0,00) |f'(c)] <-e.



